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Class / Homework

Review For Test

ﬁndout: Surface Area Workshe?

Questions: 1-6
answers were on the board

Sl -7
/— Questions from Textbook: \
page 45 - 46

#1 # 12ac

#2(b, d, f, h) #13ab

#3(a,b,c,d,e) #15(bc)

#4(a,d) #16(bc)

#5 (a, c, e) #19(a)

#6 (b,d)

#9

\ and the Warehouse questioy
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Page 45

1 ) determine the value of the

square root.

a) V1.21 b) ‘_;‘;;?—: ¢ V0.64
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2. Determine each square root,
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3. Which fractions and decimals are perfect

squares? Explain your reasoning,.
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4. Calculate the number whose square root is:

a) 2 b) 1.6 0 % d) 0.8
(7. 8)"

GEY @ @y
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5. Determine the side length of a square with
each area below.
f-'—_ﬂ———.—-—

2)0.81 m? b) 0.01 m? 0 B84 cm? d)/6.25 cm?

I

e)/0.16 km? f) /1.44. km?
Xso0y] X111
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6. Use benchmarks to approximate each
square root to the nearest tenth. State the
benchmarks you used.

a) V3.8 ) V338 [0 VI33s_,
o N
‘ T 3 Jia | Ty
b
i \L 2 [l 2
[l [

November 07, 2022

d) \233 8
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8. Which of the following square roots are
correct to the nearest tenth? How do you
know? Correct the square roots that are

incorrect.
a) V24 =15 by VI6 =04 ¢ \156.8 = 15.6
Covre i W rong Wreon g
=1.3 2\17.5
e) V0.5 = 0.7 f) V0.7 =05
C orreck W hna
0.9

November 07, 2022

d) V47.8 = 6.9

Corre e.**

15
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12. Determine the length of a diagonal of each
rectangle.
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13. Determine a decimal or a fraction whose
square root is between each pair of numbers.

a) ~and |

b) 0.2 and 0.3
J_netj-.l \E-E 1&.3
X=0.04 WE 009

d.05
Q.06

November 07, 2022
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14. a) Use a calculator to approximate each
square root.
) V0.0015 i) V0.15 i) V15
0,0\ = G, 29 = 3,9

iv) 11500
= 1%

November 07, 2022

v) V150000
= 283,58

18
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158. Each object is built with 1-cm cubes.

Determine its surface area.
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Rackorgula. B (6,2, 5, 3:¢)
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g,lhgh Lr; 9.6 \..1;3,5)

SP’-: - 2.-”1"1 a9 B
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2.5 ¢cm by 2.5 ¢cm by 15.0 cm. Bk reand R TS is'.)
The cylinder is 3.5 cm high T
with radius 9.6 cm.
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A warehouse measures 60 m by 30 m by 20 m.

An office attached to one wall of the warehouse C&V’ door 2 Windews
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